Exam.Code:0308
Sub. Code: 2663
2071
M.A. (Economics) Second Semester
MAECO-202: Macro Economics-1I
(In all mediums)

Time allowed: 3 Hours Max. Marks: 80
NOTE: Attempt five questions in all, including Question No. I which is compulsory
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and selecting one question from each Unit.
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Write short note on any ten of the following:-

a) Define IS Curve

b) What is liquidity trap?

¢) What happens to balance of payments when domestic rate of interest is not
equal to the international rate of interest?

d) Which policy is more effective during the periods of deflation?

e) What is hyperinflation?

f) Define natural rate of unemployment.

g) Define Phillips Curve.

h) What do you mean by structural rigidities?

i) Define multiplier.

j) Define Accelerator Coefficient.

k) Define the lower limit of trade cycle in Godwin's theory of trade cycle.

1) Name the different phases of business cycle.

m) What do you mean by policy ineffectiveness?

n) What do you mean by wage price rigidity?

0) What are the forward contracts? 0 (10x2)
UNIT -1

Discuss the simultaneous equilibrium in internal and external market of any

country. (15)

What are the major goals of a monetary policy? Discuss the relative effectiveness

of monetary policy during the periods of inflation and deflation. (15)
UNIT -1X

What do you mean by inflation? Critically discuss the monetarist theory of
inflation. (15)

How Phillips curve guides a policy? What are the contrasting views on it? - (15)

UNIT -1III
Elaborate Samulson's Model of business cycle. What are its limitations? (195)
Critically examine Hicks' theory of trade cycle. (15)
UNIT -1V .
How the rational expectations are formed? Why they lead to dynamic
inconsistency? . _ (15)
Critically examine the propagative mechanism of real business cycle. (15)
X-X-X

(Hindi and Punjabi versions enclosed) :
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